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Balance Sheet at 30 April 2004 was: ,

Shindig Ltd offered to purcﬁ
re-valuation of assets.

Fixed assets: Freehold land
Freehold buildings
Equipment

Current assets: - -Stock
Debtors
Bank

Less Current liabilities
Creditors

Less Long term liability
Loan from Argy at 10%

Capital accounts: Argy
Bargy
Less Drawing accounts

Argy
Bargy

Freehold land
Freehold buildings
Equipment

Stock

Debtors

$ $
5000
20000
_8000
33000
11000
6000
_2000 %
19000
3000 16000
49000
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45000
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(18 000) ‘
(12 000) (30 000)
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Shindig Ltd would not take over the partnership bank account.

1. Argy received sulfficient 8%
the same amount of interest as he had
2. Shindig Ltd paid $12 000 into the partnership bank account.  ~

3. The balance of the purchase price was seltled in ordinary shares 0

‘price of $1.50.

The shares were distributed among the parh'm;s in their profivloss sharing r

The puréhase consideration was %62'000!,,8éttled as follows:
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remaining balances on their Capital accounts were scttled in cash...

REQUIRED

(a) Prepare the partners’ Capital ac,bbunts inc
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ase the partnership business. The offer was based on the following

debentures in Shindig Ltd to ensure that he continued to receive
been entitled to on his loan to the partnership.

F$Teach in Shindig Ltd at a

atios and any

olumnar form to show the closing entries. {20}

®




[image: image2.jpg]The Balance Sheet of Shindig Ltd at the 30 April 2004 before the
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business was:
, $ g
Fixed assets: Leasehold buildings 10000
Office furniture _2000
. 5 12000
Current assets:  Stock 20000
5 Debtors 12000
Bank 24 000
it o B0
Current liabilities: Creditors 14000 42000
' 54 000
Share capital and reserves
Ordinary shares of $1 50000
Profit and Loss Account -4000
54000
REQUIRED
(b) (i) Prepare the Balance Sheet of Shindig Ltd as it will appear after the purchase of the

(i)
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partnership business. [15]

Describe how your answers 1o (a) and (b)(i) would have been different if Shindig Ltd had
purchased the partnership assets only, instead of the partnership business. [5]
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[Total: 40]

9706/04/M/J04 ‘ [Turn over

purchase of the partnership





	                                                          Revaluation Account
	
	

	
	
	
	$
	
	
	
	$

	Freehold Building                        4000
	4000
	Freehold land                               5000

	Equipment
	
	3000
	
	
	
	

	Stock
	
	
	2000
	Loss on Revaluation
	
	5000

	Debtors
	
	
	1000
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	10000
	
	
	
	10000

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	Capital Account
	
	
	

	
	
	Argy
	Bargy
	
	
	Argy
	Bargy

	Drawing
	
	18000
	12000
	Balance
	
	$50,000 
	$25,000 

	Loan
	
	4000
	
	interest
	
	400
	

	ordinary share
	17067
	7333
	
	
	
	

	
	
	50400
	25000
	
	
	50400
	25000

	
	
	
	
	
	
	
	

	
	
	
	Shindig Ltd
	
	
	

	                                             Balance Sheet as at 30 April 2004
	
	

	Fixed Assets
	
	
	
	$
	$
	$

	Freehold land
	
	
	
	
	10000
	

	Freehold Building
	(10000+16000)
	
	
	26000
	

	Office furniture
	
	
	
	
	2000
	

	Equipment
	
	
	
	
	5000
	

	
	
	
	
	
	
	
	43000

	
	
	
	
	
	
	
	

	Current Assets
	
	
	
	
	
	

	Stock (20000+9000)
	
	
	
	
	29000
	

	Debtors (12000+5000)
	
	
	
	17000
	

	Bank (24000+12000)
	
	
	
	
	36000
	

	
	
	
	
	
	
	82000
	

	
	
	
	
	
	
	
	

	Current Liabilites
	
	
	
	
	
	

	Creditors (14000+3000)
	
	
	
	17000
	

	
	
	
	
	
	
	
	65000

	
	
	
	
	
	
	
	108000

	
	
	
	
	
	
	
	

	Share Capital and Reserve
	
	
	
	
	

	Ordinary Share of $1 each
	
	
	
	67000
	

	Share premium
	
	
	
	
	8500
	

	Profit and Loss
	
	
	
	
	4000
	

	Loss on Revaluation
	
	
	
	
	-5000
	

	Debenture
	
	
	
	
	
	4000
	

	
	
	
	
	
	
	
	78500

	
	
	
	
	
	
	
	


